
Answers

a)	 There are 12  months in a year.

b)	 There are 31  days in March.

c)	 There are 52  weeks in a year.

d)	 There are 30  days in September.

2)	

3)	 September

4)	 Franco is the eldest.  

78 months is 6 years and 6 months

312 weeks is 6 years

1)	 4 weeks is equal to 28 days. Therefore, the holidays will start on 21st July.

2)	

3)	 Amara might be correct if it is a leap year.  If it is a leap year, February has an extra day – 29th and therefore 
her birthday would be in 6 days time. If it was not a leap year, it would be in 5 days time.

4)	 Leon is 3

Darren is 7

Jasmine is 12 

1)

6 weeks 45 days48 hours
The number of days 

altogether in April and May

Date of Birthday

Jack My birthday is 6 weeks after Siannise.
4th September

24th July + 6 weeks (42 days) 

Pablo My birthday is in 20 days time.
3rd September

14th August + 20 days

Siannise My birthday was 3 weeks ago.
24th July

14th August – 3 weeks (21 days)
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Answers

a)	 April, May and June

September, October and November

January, February and March – when it’s a leap year

December, January and February – when it’s a leap year

b)	 Possible answers include:

1996, 1992, 1988, 1984.

c)	 Josie is correct. 1920 is 1000 years before 2020. Leap years happen every 4 years and as 1000 is a multiple 
of 4, this is correct.

a)	 Accept any answer less than 3 days

b)	 Accept any answer greater than 36 months as that is how many months in 3 years. 3 × 12 = 36

c)	 Accept any answer that is greater than 28 days as there are 28 days in 4 weeks. 4 × 7 = 28

d)	 48  months = 4 years >  weeks

3)	 Teacher to check responses. 

8 year old = 2922 days old

9 year old = 3288 days old

1)

2)

Accept any answer which is less than 208 weeks as 
that is how many weeks are in 4 years.

4 × 52 = 208

48 months

12 months in a year.

12 × 4 = 48
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